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take moment at B

A Fo(s) = Fb(r)




A Fb(s) = [_u;_mﬂ_d&
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3.1) Uniform Translational Acceleration

D'Alembert's principal

a dymanic system can be treated as a static
System provided the effects of acceleration are

accounted for by the addition of a fi‘cﬁﬁm R,
nertia force _ (F = ma)

inertia force percent volume
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P . 4Paxx+fl (y,z)

p =12

P =-pgzthxy)
f(y2) = -pgz+c
f(xy) = -pa x+c
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9) Uniform Rotation
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Q=radfsec
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At equilibrium r=0,z= zm, P=pac =%+pa

p-pa = 2JpQ2 7 -p g(z-z)

i.)Shape of the surface p = pa: z =) %>
)S ‘ P=pa;z=QT p TR .

ii.ﬂ!elation to z,

cggstgnt volume Tt R% g Rz -:Amkizs_:- B |
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Calculate the speed when the difference
of level between the tube is 0.08 cm

What is the original height of the
mercury volume ?
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z-z =L R )
A

. P 1 =u y I = U, 8 ﬂ81ﬁ
um{m z-2=008m,R=0.16 m, r=0,0 m "
Q = 15.66 rad/sec
=13.66X 60 = 149.5 pm
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2. In the figure, a scow 20 ft. wide and 60 ft. long has a gross weight of 22.5 fons
mmdgravnycst.omabovethewatersuﬂace Fndmemetaoemnchemm
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Solution Lesson 6 : AR
B .
(1) mmmmmmagwdepmauncyim

0%% a1 [P BT Y
.35 x 9.79x (T1/4) x (0.666 )H = 0.66 x 9:79 x (T/4) x (0.666 ) g
H = 09333 m. = 04t W s

The center of buoyancy is at  0.9333/2 = 0.4666 m. = 0-Likh .
from the bottom of cylinder

MR s n (Rroa)xOSEH
2. g 3
o vd 0.9333(T/4) x 0.666 ~—
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FLLO+HL U XU/ X ( OUT=1.0%(1.U%1.V)/<c )

Y - 3.03 ft
By Similar Tm
AY = CB P
. 5-/-2 MP
1.0 = 10 - 9.45
202 . WP
MP = 5.50 it

CG is 6.01 + 1.0 or 7.01ft from the bottom
Lo - 7.01 - 3,03

ki -

5.50-3.98
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